In accordance with Rules 6.2, 6.3 & 6.5 of the Insolvency (England & Wales) Rules 2016 and Sections 95 & 99 of the Insolvency Act 1986.

LIQ02 Notice of statement of affairs



WEDNESDAY



A09 09/03/2022 COMPANIES HOUSE #285

1	Company details					
Company number	0 8 0 9 6 1 7 2	Filling in this form Please complete in typescript or in				
Company name in full	Wecudos Ltd	bold black capitals.				
2	Liquidator's name					
Full forename(s)	Ben					
Surname	Stanyon	_				
3	Liquidator's address					
Building name/number	142/148					
Street	Main Road	-				
		-				
Post town	Sidcup	_				
County/Region	Kent					
Postcode	D A 1 4 6 N Z					
Country		-				
4	Liquidator's name •					
Full forename(s)	Nedim	Other liquidator Use this section to tell us about				
Surname	Ailyan	another liquidator.				
5	Liquidator's address @					
Building name/number	142/148	Other liquidator				
Street	Main Road	 Use this section to tell us about another liquidator. 				
		-				
Post town	Sidcup	_				
County/Region	Kent	_ ,				
Postcode	D A 1 4 6 N Z					
Country						

LIQ02 Notice of statement of affairs

Liquidator's signature X	7 Statem	<u> </u>
I attach: ☐ Statement of affairs by the liquidator under section 95(1A) of the Insolvency Act 1986 ☐ Statement of affairs by a director under section 99(1) of the Insolvency Act 1986 ☐ Statement of concurrence Sign and date Liquidator's signature X		ent of affairs
Statement of affairs by the liquidator under section 95(1A) of the Insolvency Act 1986 Statement of affairs by a director under section 99(1) of the Insolvency Act 1986 Statement of concurrence Sign and date Liquidator's signature Signature Signature X	I attach:	
Insolvency Act 1986 Statement of affairs by a director under section 99(1) of the Insolvency Act 1986 Statement of concurrence Sign and date Liquidator's signature Signature Signature		
Act 1986 Statement of concurrence Sign and date Signature X X		
Sign and date Liquidator's signature X X		
Liquidator's signature X	☐ Sta	
×	8 Sign ar	d date
Signature date 0 4 7 3 2 7 2 7 2		×
	Signature date 0 4	0 3 12 10 12 12

L1002

Notice of statement of affairs

Presenter information

You do not have to give any contact information, but if you do it will help Companies House if there is a query on the form. The contact information you give will be visible to searchers of the public record.

Contact name	Luke Francis				
Company name	FRP Advisory Trading Limited				
Address	Centre Block, 4th Floor				
	Central Court				
Post town	Knoll Rise				
County/Region	Orpington				
Postcode	BR60JA				
Country					
DX	cp.orpington@frpadvisory.com				
Telephone	020 8302 4344				
	The state of the s				

Checklist

We may return forms completed incorrectly or with information missing.

Please make sure you have remembered the following:

- ☐ The company name and number match the information held on the public Register.
- ☐ You have attached the required documents.
- ☐ You have signed the form.

Important information

All information on this form will appear on the public record.

Where to send

You may return this form to any Companies House address, however for expediency we advise you to return it to the address below:

The Registrar of Companies, Companies House, Crown Way, Cardiff, Wales, CF14 3UZ. DX 33050 Cardiff.

Further information

For further information please see the guidance notes on the website at www.gov.uk/companieshouse or email enquiries@companieshouse.gov.uk

This form is available in an alternative format. Please visit the forms page on the website at www.gov.uk/companieshouse

Statement of Affairs

Statement as to affairs of

Wecudos Ltd

Company Registered Number: 08096172

on the 25 February 2022, being a date not more than 14 days before the date of the resolution for winding up

Statement of truth

I believe that the facts stated in this Statement of Affairs are true. I understand that proceedings for contempt of court may be brought against anyone who makes, or causes to be made, a false statement in a document verified by a statement of truth without an honest belief in its truth.

Full Name
Adam Read

Signed

Dated

28/02/22

Wecudos Ltd

Company Registered Number: 08096172 Statement Of Affairs as at 25 February 2022

A - Summary of Assets				
Assets	Book Value £	Estimated to Realise £		
Assets subject to fixed charge:				
Assets subject to floating charge:				
Uncharged assets:				
Computer Equipment	2,210.00	Uncertain		
Office Equipment	1,702.00	NIL		
Cash at Bank	250.00	NIL		
Rent Deposit	9,720.00	Uncertain		
Intercompany Loan	32,695.00	NIL		
Estimated total assets available for p	preferential creditors	NIL		
Signature	Date28/02/22			

Wecudos Ltd

Company Registered Number: 08096172 Statement Of Affairs as at 25 February 2022

		Estimated to Realise
Estimated total assets available for preferential creditors (Carried from	Page A)	£
Liabilities	. ugu ny	
Preferential Creditors:-		AITI
Estimated deficiency/surplus as regards preferential creditors		NIL NIL
2nd Preferential Creditors:- HMRC	1.00	∜
Estimated deficiency/surplus as regards 2nd preferential creditors		1.00 (1.00)
Debts secured by floating charges pre 15 September 2003 Other Pre 15 September 2003 Floating Charge Creditors		
		NIL (1.00)
Estimated prescribed part of net property where applicable (to carry forward) Estimated total assets available for floating charge holders	- white - Mr.	NIL (1.00)
Debts secured by floating charges post 14 September 2003		
Estimated deficiency/surplus of assets after floating charges		NIL (1.00)
Estimated prescribed part of net property where applicable (brought down) Total assets available to unsecured creditors		NIL (1.00)
Unsecured non-preferential claims (excluding any shortfall to floating charge holde HSBC Bank Plc Trade Creditors Directors' Loan Account	ers) 128,374.00 36,360.39 408.76	465 449 45
Estimated deficiency/surplus as regards non-preferential creditors (excluding any shortfall in respect of F.C's post 14 September 2003)		165,143.15 (165,144.15)
Estimated deficiency/surplus as regards creditors	 	(165,144.15)
Issued and called up capital Ordinary Shareholders Share Premium	2,771.99 989,451.00	002 222 00
Estimated total deficiency/surplus as regards members		992,222.99 (1,157,367.14)
Signature Date		

FRP Advisory Trading Limited Wecudos Ltd Company Registered Number: 08096172 B - Company Creditors

Key	Name	Address	
CAOD	Audley Chaucer Limited	Beweley House, Park Road, Esher, KT10 8NP	 3,712.60
CH00	HM Revenue & Customs	Benton Park View, Newcastle Upon Tyne, NE98 1ZZ	1.00
CH01	HSBC Bank Plc	Oustomer Services Centre, BX8 1HB	128,374.00
CO00	Office Group	The Smiths Building, 179 Great Portland Street, London, W1W 5PL	28,000.00
CP00	Peachey & Co Llp	95 Aldwych, London, WC2B 4JF	3,000.00
CR00	Dr Adam Read	C/O Peachey & Co Ltp, 95 Aldwych, London, WC2B 43F	408.76
CS00	Space Marketing Ltd	10 Clayfield Mews, Newcomen Road, Tunbridge Wells, TN4 9PA	1,647.79
7 Entrie	es Totalling		 165,144.15

Signature

Page 1 of 3

IPS SQL Ver. 2015.09

FRP Advisory Trading Limited Wecudos Ltd Company Registered Number: 08096172

C - Shareholders

Key	Name	Address		Ту <i>р</i> в	Nominal Value	No. 01 Shares	Called Up per share	Total Amt. Called Up
				Ordinary	0.01	1,500	0.01	15.00
				Ordinary	0.01	544	18.38	10,000.00
				Ordinary	0,01	2,285	8.75	20,002.50
				Ordinary	0.01	1,138	8.75	9,957.50
			1	Ontinary	0.01	22,858	8.75	200,007.50
			•	Ordinary	0.01	500	0.01	5.00
			. 1	Ordinary	0.01	2,300	6.75	20,125.00
				Ordinary	0.01	544	18.38	10,000.00
			Į.	Ordinary	0.01	816	18.38	15,000.00
ı			1	Ordinary	0.03	572	8.75	5,005,00
i			1	Ordinary	0.01	1,000	0,01	10.00
ı				Ordinary	0.01	2,174	18.40	40,000.00
I				Ordinary	0.01	11,715	4,27	50,000.60
l				Ordinary	0.01	5,715	8.75	50,000.00
1				Ordinary	0.01	572	8.75	5,005.00
ł				Ordin#7y	0.01	16,305	18.40	300,012.00
1				Ordinary	0.01	1,359	18.40	25,000.00
•				Ordinary	0.01	191,000	0.01	1,910.00
				Ordinary	0.01	1,142	8.75	9,992.50
ì				Ordinary	0.01	8, 153	1B.42	150,155.20
1				Ordinary	0.01	572	8.75	5,005.00
1		•		Ordinary	0,01	1,716	8.75	15,015.00
1				Ordinary	0.01	2,718	18.40	50,000.00
I				1		277,199		
:							•	
				ì				

Signature

age 1 of 1

IPS SQL Ver. 2010